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OMRE Answer

The serial |

o last S.No. 120

pages from S.No. 1 1o

are there in the guestion bookisl.
in case of any discrepancy / defect the
candidate should immediatsly report the
matter lo the invighator for replacement
of test bookiet and OMR answer shesl.

No claim / oljection in this regard will

he enterteined after five minutes of stan

of examination. Candidate will be liable
for it

3. Answer all questions.

4. All questions carry equal marks.

B. Only one answer is {o be given for
gach guestion.

8. If more than one answels are
marked, it would be treated as wrong
answer.

7. Each guestion has four alternative
responses marked serdally as {A},
{8, {C}, (D). You have to darken only
orie circle or bubble indicating the
correct answer on the Answer Sheet

© using BLUE BALL POINT PEN.

8. Use of Mobile Phone/Bluetooth
Devices or any other electronic
gadget in the examination hall is
strictly prohibited. if any such
prohibited material found with any
candidate, strict action wili be {aken

- against him/her as per rule.

8. If there is any sort of ambiguily/
mistake either of printing or factual
nature in Hindi and English Version
of the question, the English Version
wili be treaied as siandard.

Warning : If 2 candidate is found

copying or if any unauthorized material

is found in hisfher possession, F.LR.
would be lodged against him/her in the

Police Station and he/she would liabie

to be prosscuted under Section 3 of the

State Prevention of Unfalr means Act,

1892 and Board Regulations. Board may

also debar him/her permanently from all

future examination of the Board.
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I 'Desert Development Programme' is being || 6 Match Li
funded by - 12 | Match List-l with List-II and select the e 1A o o
(A) 100 percent by Govt. of Rajasthan correct answer using the codes given bel - & From where @zé' the Bhil related activities || 13 Which emperor built the famous temple of
(B) 100 percent by Govt. of In ém‘ ’ List-I List ﬁ it Deiow: of Motilal Teiawat through the Bki Eklingii at Udaipur ?
(CN 75 percent by P . - vement start 7 ( o o
Y ;z ﬁii«@i}f 0}«1 gﬁvé“ of India and Saﬁf@mamﬁs / Location ?ﬁi J;fgﬁ;a e Y 110 (A) Bappa Rawal (B) Jaisingh
TV T ?»fceff by Govt. of Rajasthan National Park (5\ Na o gg, Ddarpur (C) Mokal (D) Kumbha
L I We ralo ‘»ﬁ - 0-:50 ; 1 Al ! i it ; ﬁ@mé& ungarpur o Ot " L
" Gowt. 0 0F 50150 by both of the 25\ z;gﬁ;i{ata {(2) Alwar ERCIRIREICRAC SIS \gzﬁ:ifﬁigﬁ;‘a? -5 SeaqR Rewt TRiTh Afet @1 i e weraen
e feer i @ e e g ¥ - ;iii}}KaﬁZda ; (b) Bharatpur i & s 3 B @ @ e B | % W g o !
(A) 100 9laye TR WIS ZT %V) Keol dev‘ @ Pratapgarh (&) TR B) a@*«? o (A) s T (B) wwuie
{S} EG{} Q%%ﬂ ‘;’:‘3{7{‘/3 an{. m _ﬁ%‘fg‘g\aﬁ i{;{o {d} K&I’a‘&ﬁ {C\ %r >5}> '—,::T\r%\qi{ <{:> '3;;?%‘55’@ {}:}\; :Cg&%:%ﬂ;
(C) 75 wier 3% T 7 25 qlvew ToRA | T @2 ¥ it i o A R o e 14 Which Bikaner ki { subordinati
TR E At = R B WU BT g I ghiT 9 Chitrashala in the Bundi palaces is 2 14 When $z§an§¥ g aﬁ? epted subordimation
(D) 50 : 50 % orgam ¥ 2 & -1 11 contribution of which ruler 7 of Mughal Emperor Akbar 7
L SNE %. | T Caril ATy g — c (A) Maharao Ram Singh (A)Rao ij’é@z‘aﬂ (B) Rao Kalyanmal
{Aﬁﬁﬁfs gj;;{? ciigms‘{s of Rajasthan are- () dammr (@) s (B) Maharao Umed Singh gé ?"0 Raisingh (D) Rao Bika
) e SR AAJTEE if) wheem | C) Maharao Kishore Singh SR YT N R TS B B HU
@{‘ %hi%wafaa Ajmer, Chittorgarh Eu) %nrlméaﬁ (b) F@I %3)5 Maharzz Cif}?;iZsizﬁgﬁ e w7 s e
(C) Tonk, Sawai Madhopur, Bharatpur o (©) was 381 et 3 P R )
(D) Alwar, Dholpur, Karauli ) (iv) Hamma (d) @i . P Rt gt 3 R (B) T e
T ¥ ww o R R ¥ - Codes / 5w : i; e (©) T TaRes (D) T =
(A) ST, A, T 0 ) @i ¢ o T RfE (B) e S g
ol : , i) (iv ' . ' 15 Who is considered the aut Raiasthani
(B) s, i, e B ©® @ o (Cy e feefrc R (D) e e e o e suber oA
ggg ?ﬁ;ﬁgﬁwgw B @D @ @© ® ‘ 16 In which language did Kesari Singh (A) Sahajobai
) & <‘, g, WL (g} @ © ® @ Barahath write 13 Sorthe (couplets) to (B) Samarthandas Manishi
3 iﬁ;angs the following districts of Rajasthan @ @ @ & (© Mewar Maharana [ (C) Samaysunder
(fi)dg;zf; Oﬁiﬁﬁm E%S\tgg West : 7 Match List-I with List-II and sel égg gﬁg}; D) S e
L ner, Pali : = se ' ¢ ) -
e %; ‘ y ﬁﬁ% ;Eﬁ{ % é@qg;;mg correct answer using the codes gi%;g;s:j © Mo f«aré '{;:I*{%T"'?f R ST TERTERTR O W TR € 7
ofe w1 7 7 iméaiaeg o List-1 ListaT | (D) Both Pingle and Mewari {c} Sl (B) wears
(1) E@iﬁ EZ} R, (3) TR, (4) Wi ‘ Wild life sgnctuaries District Ferdiie ares 3 Aare e B 13 9 B ). (C) wagy (D) Sarae Feaia
((f}) §§ ) 2), 3), @ ®) @), (1), 3), (4 (i) Ramgarh Vishdhari  (a) Churu o ¥ et 8w & ? | tiﬁ Where is Nogari' jewellery worm 7
© 1), @, @), G) (D) (1), B, @), @) (ii) Jawahar Sagar (b) Dholpur (A) R - (&) Throat B) Head
4 Which of the following some breeds are gij)};fg;gﬁipper (c) Bundi (®) R (C) Hand (D) Leg
Fiagéa, Pugal and Sonadi ? i {@g 3 (d) Kota : (C) s PTG SISOl HE U ST § 7
(A) Goat (B) Sheep -1 ¥ gifv AR aw T Ry (D) Rivrer aire Fegy A (A) v (B) Rt
(C) Camel (D) Buffalo TR H AT AT G g G ' ©w g
;T;W’ T o S R A A 5 - -1 g 11 The founder of Niranjani Sect was . ) (D) w
() Tt \ TR seEned e gg zzﬁ %aﬂ:ﬁgas (g) anﬁ: Niranjandas || 17 On M‘h February, 1948 the Government of
(©) %= - (B) a%g (1) e fowemd (8) g& v afi%as' (D) Sant Ramcharan India took the Authority over the
= (D) & (i) ST T o ‘ dverd % gwmm ¥ administration of Bharatpur, who was
. . (b) dtwge | (A) W0 TR B) ¥ frismer i ini
5 Which of the following is not a Git)amer e ] g I i B)ywd appointed the administrator of the State of
i1 O the 1oliowin cause of : (©) & é (C) wa shEm™ R
desertification in Rajasthan ? (@v) = faer (@) @ AN () ¥ Bharatpur ?
A) Over i . ]
g(‘)? g;fg‘;nigs&;ng . EB} Over population Codes / %z : 12 Frqm where rebellion was started in ?f‘z v.E iMenGn. (B) Shobharam
&) Qregnic farming (D) Over Ploughing G G i) (v o Rajasthan ? (C) Udaybhan Singh (D) 5. I, Sapru
ARG ¥ meedEe gt (A) © (@) 0 @ (A) Kota (B) Neemach 14 9Terdl, 1948 Y WG W FRAGT AT
i e . 5 B) &) (b) () (d) (o) Nasﬁ"abad (D) Aauwa T SR RS WYY T BT AN (!
o @ﬁim (Di :3%3@1 - © (© (@ (2 (b) TroRe ¥ frere wEl woW gen o ? frgerr et o 7
sifees BGIH D) @ () ) (2 , (A) ®ret (B) W (A)E. @ w (B) qtseE
(C) W@ (D) s (C) vegw™ e (D) @ T. §Y
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18 Which of the following crop-pattern is

29

%mri '
in wet southern eastern plain a gm - climatic
region of Rajasthan ?

(A) Cotton - Mustard - Bajra

(B) Jowar - Makka - Bajra

(C) Cotton - Makka - Groundnut

(D) Rice - Wheat - Soyabean

Fre g "CE?L: BT B - ST8Y, TR o Fief-

Tt o Aa g@%wﬁwg TRST A R W ¥ 7
(A)®urg — g3 — sy

(B) X — 9l — 9N

(C) o — 7eRsT — %

(D) =rem — R - adE

The lowest air pressure in the month of June
in Rajasthan is probable in the district of -
(A) MNagaur (B) Jhunjhunu

(C) Jaisalmer (D) Udaipur

TR H T WT%  wEae qYEE e e
¥ W%ﬁ g, <> -
(A) 7R

(C) Srawat

In Rajasthan, which of the foﬂowﬁng districts
are badly affected by the ecological probiem
of 'SEM' ?

(A) Banswara - Dungarpur

(B) Jalore - Sirohi

(C) Shriganganagar - Hanumangarh

(D) Bharatpur - Dhaulpur

Ty H Fretferiaa ¥ & @ Y e wifRere
e W ¥ Ay g €7

(A) FIEETST - FRYT

(33 Y1

(B) v ~ fagd
(C) MR — S
(D) 9T ~ gt

Which pair is not correctly matched 7

Alrport City
(A) Maharana Pratap Airport — Udaipur
(B) Nal Airport —  Bikaner
(C) Suratgarh Airport —  Jodhpur
(D) Kota Airport —~ Kota
o w1 YA Tl g T Y 7

TE S MET
(A) FRTCON WO TR oEST - $Edyl
(B) 7T &1 TS ~ SiBT
(C) [TTe &1 gE ~ S
(D) @il 5978 argsT ]
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22

23

In which cantonment were Major
Spotiswood and Col. Newbury killed during
the revolution of 1857 7

(A) Nimach (B) Beawar
(C) Nasirabad (D) Khairwar

1857 & wik & umy fex Wivge g8 T H
W@ﬁﬁw%@wmﬁa&wa ?

(A) Hre (B) sy
() T (D) e

Whm“ of the following culture is also known
.Ci&naf‘ ulture 7

(A) Ahar culture

(B) Saraswati culture

(C) Dravyawati culture

(D\ Dnmaawatg culture

Pt wepty ¥ ¥ Y v dly % A

%%ﬁwm% ?

A) aTEs dei
fe\maé?q@“

(B) sl depla
(D) goaeh deph

24 In which place the dead body of Maharana

i Banga was cremated 7

{A} Mandalgarh {B) Kumbhalgarh
(C) Khanva (D) Basva
HETT 0 e 9o ST &1 &% Wik v =
o fsan T 7

(A i (B) e
) @ (D) s7aT

25 jDuring the revolution of 1857 in Kota, where

were the prominent leaders Jaidayal and
Mehrab Khan residents of respectively 7

. (A) Mathura, Dholpur(B) Mathura, Karauli

(C) Dholpur, Kota (D) Kota, Jhalawar
1857 @i ik % §99 BT & YW a1 Fue
T HEUE G HHI: wEl & twnd g 7

(A) Wy, dwgy (B) =g, &m0

(© GRYT, BT (D) @, FwEs

Zﬁ W ho was assigned rpsmnszbﬂzty for signing

treaties between Rajput States in 1818 by
British Company ?
(A) Metcalfe

. (B) Lord Wellesley

(C) Cornwaillis

(D) 8ir George Barlow

1818 % Twiqe Tl © el R @ SaEii
fsesr ey ¥ fpy g ar ?

(A) Tz (B) @ Teieren

(C) wrierhrg (D) = St Wit

(A) At
(B) At

iy
SN A 4 Y
’\{,;r‘; A

£
A LLAE
(D) At time of Deat]

e B o
(N W T HINT
g7

(A)w= & €9

{
X
(C) i & wo a

38 Which folk hero's fair is considered as
symbol of Religious goodwill

(A) Pabuj

(C) Tejaji
T HET W
(A) Tt

(C) =iy

29 "Languriya Dance” is famous atirac ﬁ@@i of
which fair of Rajasthan ?
(A) Sheetla mata Fair
(B) Karni mata Fair
(C) Kailadevi mata Fair

(D) Jeen mata Fair 3
‘T e REe e e e & 7

(A) SNaermrer w& \D\* W"ﬁ? Cril

(C) Fanedy wan Fwn (D) SO HAT

30 Who was the

the reign of Maharana Kumbha 7

(A Mandan
(C) Deepak

-

L)

(B) \Jnéaﬁ

(D) Ra “OPVjA 3

W B W R GEHIHT @l
g0
&

(B) wivrsi

(D) Tt

Architect of Chittor during’

(B) Vidyadhar
(D) Nihalchand

TR Gl & WEEEE § e B IRgHR

BT °r?

(A) Toe

(C) due

31 How many "Riyasa
present before uni
(A) 18 Riyasatein
(B) 15 R1yme£m
(C) 19 Riyasatein,
(D) 20 Riyasatein,

(B) REnex
(D) FrEwE=

in" and "Thikane™ were
ation of Rajasthan ?
[hikane

hikan
hikane
Thikane

+
ptssd
¥

it

("3

e wu] o
D

LP»J‘.#JC’.)‘\&

TS & TS

P &

(A) 18 farer,
(B) 15 R,
(C) 19 P,
(D) 20 fmer,

[79P3] +

ud e A T
4 T
6 fomr
3 T
3 foem

(¥

o [N, & o B ey R D
T TR ST g & SHEN \é”&» FELRI @Yy 7
(A) T, S, W, GRS
(B) ¥, ST, SRR, QIS

’«:\? M, B, SIS, TS
D)= 's\, AR,

in Rajasﬁ‘ia; Trikal' is related ¢
{£) Unemployment, Wabea anc
(B) Cereals, W er and Anima
(C) Animal fee J ;fuym';“* mi Cereals
(u} Water, Gra S‘ an d Shelter
e o P @ 99y ¥ -
(A) Sl §@ U e
(B) o, S @ =i
(C) =y, ST O ST
(D) ¥, =g Q¥ e
ﬂ

In which region of Rajasthan Alfisols grouy
of soil is found ?
(A) Jaipuz, Alwar, Dausa
(B) Jaisalmer, Barmer, Pali

} Udaipur, Sirohi, Pali
{D} Kota, B&m;, %haf tpur
TR & Rew Wy ¥ T
e 37
(A) ST, SR, S
(B) Srgwdy, IIEUT, R
{{j* \s%W W UT%

TFE, JEnie

wmE B T
THE Wl H{ol

(D) wrer, &, WY
Which of the faﬁewmg is not correctly

niptapmd
maiched
Miain RBiver
(&) Sabarmati -

Tributary River
Yatrak

(B) Mahi - Kam‘ia
(C) Luni - Anas
(D) Chambal Parwan
T ¥ ¥ B T aE q@%’a?‘“%?
gE W RS T
(A) ey - AEE
(B) 711 - HEE
(C) T - S
qTE

(D) T -




36 Which of the following natural disasters
have the least probability to occur in

5]

Rajasthan ?

(A) Flood

B) Tsunami
{(C) Drought (D) o

(D) Earthquake

= am W sl o Twem ¥ ute

B B REAH S w7

(4) w5 (B) g
(© g (D) g

37 Which of the following districts in Rajasthan
have maximum forest area 9

(A} Jodhpur (B) Jaipur
(C) Banswara (D) Udaipur
P % w w Ren oserm ¥ vl o 8w
wEar y 7
(A) SR

. (B) g
(C) srgamT

(D) saage
38 Which of the following mineral in Rajasthan

don't have monopoly with respect to mineral
wealth in India ?

(A) Zinc (B) Petroleum

(C) Marble (D) Lead

IR @ @i TEts % wey ¥ TRy B

;’ Y &F W wh g ¥ weiier w9
?

(A) = (B) tgiferas

(C) dmaEy (D) <rar

39 Which city will be provided drinking water
from Mansi Bakal Project ?

(A) Rajsamand (B) Pali

(C) Udaipur (D) Jodhpur

TEE e IRASE ¥ R e @) Yo
Jaeey fepam wiw ?

41 D. C. motors should not be started without
starter, because -
(A) of the high resistance of shunt fiei
winding,.
Y K : : L2
(B) of the low resistance of series fiel
winding,
'l f t% 1 S e -
(C) of the very low resistance of armature
winding,
(D) of the high speed of motors.

St W A @ R wrk T e A,

£

[

(A) T B TiRiET & gRy oftre g §
(B) 9rlwt oive argfe a1 Ry &9 gar &
(C) omier aRfeT &1 TRy S5 @9 9 § |
D) A & wie afve T T

42 The polarity of induced em.f. in a D. C.

generator can be reversed by reversing the
direction of -

(A) Field Flux only

(B) Rotation only

(C) Both Rotation and Field Flux

(D) Either Rotation or Field Flux

S W ¥ i Rrgaares Tw@ o ya @
ST feran S ween §, s Fe @ R o weer
femerm s ¥

(A) FIT Pivs T

(B) e aehy

(C) wits wiag T umor EF(

(D) wics vy aT T

43 The condition of maximum efficiency of the
transformer is -

(A) Copper losses are zero.

(A) TS
(C) 3gagt

(B) wwil

(D) sirege

40 The pair of districts benefiting from 'Kanwar
Sain Lift Canal' is - '

(A) Bikaner and Ganganagar

(B) Bikaner and Nagaur

(C) Jaisalmer and Jodhpur

(D) Churu and Jhunjhunu :
B e oY g A R g ¥ -
(A) ST ofiT e
(B) i &R wmie
(C) S diR Sege
(D) 78 o7 g1

(B) Iron losses are zero.
(C) Copper losses are equal to Iron losses.
(D) Copper losses = (Iron losses)?.
B ST Tear @ RaRy ¥ -
(A) BT TIml o & |
(B) ¥e wfwil g @
(C) »iut wd e wifmf swee &
(D) 3w it = (de wifmah)? |
44 Silica Gel is placed in -

(A) Breather (B) Conservator
(C) Inside the tank (D) Bucholz Relay

+ | 6

Raforest S @ s ¥ -
(A e F (B) &Rt &
(© % & ez (D) v R &

45

46

47

48

49

In 2 single phase transformer the primary
and induced secondary voltage vectors are -
(A) 180° apart (B) 90% apart

(C) In phase (D) 270° apart

2 e N LN
wee e ZEwET ¥ wafie T8 9@ G
ERQ‘EE?% ’;:‘}W - i
(A) TH-TaX & 180° g W EW ¥ | b
S A & ;
(B) TH-gEy & 90° g W EW ¥ | |
. N ‘
(C) %oy % g T .
(D) wH-gay ¥ 270° gl TT ERT €
For an induction motor the power factor 18-

Tn an induction motor rotor slots are skewed

the advantage of skewing is -

(A) Saving of Copper

(B) Reduction in Iron losses o

(C) To avoid locking of motor and reducing
noise

(D) To reduce eddy current

T Frex F Wi AT wiEl & fReT §E S

¥, T @W € -

(A) " To=d

(B) e Tifmf o w4l

(C)Waﬁzwm@ﬁmaﬁéﬁﬁ
EEISICARER] ;

(D) HaX oI & TN

The starting current of a 3-phase induction
motor is 5 times the rated current, while the
rated slip is 4%. The ratio of starting torque
to full load torque is -

e SeEe WX & JEHRN 91T, W U
& 5T ¥ e s Rew 4 whiwd Bw H
SO TS o Gl WIS Swalee 1 ST
TE?ITH -

(B) 0.8

D)yi14

The rotor power output of a 3-phase
induction motor is 15 kW. The rotor copper
losses at a slip of 4% will be - :
(A) 600 W (B) 650 W

(C) 625 W (D) 700 W

Pyee $eey™ HiE] &1 UL 9 APy
15 Rpcrare ¥ 14% ot R & Tex SiaT a1 e

(A) 0.6

(©) 1.0

(A) 600 a1e (B) 650 =<
(C) 625 a1 (D) 700 =re

[79P3] +
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53

In a thern

{A) Air

(C) Feed ¥

ST T ¢

<:, "&“273“% 3’?’%15 53}

(A)EEy

(C) wiE Tr

In a power pianf, 51

controlled by -

(A) Valve house

(C) Power |

T WT H, TTEET @ 7
By ST 8 7

(A) s g gra (B T @

(C) wrEre Bree B (D) & & TEE
Conductors, whic

terminal to dist

(A) Feeders (B) Distr

(C) General Cables (D) Service-Mains
s W, ounie <REW @ e wEd Y
(A) B (B) ez

(C) G HEed (D) gifg-o=
Transmission line insulators are made of -

€]
4]

{A) Porcelain (B) Gla
(C) Mica I NAS
ZrafieT (TETCen) WET 3gWl g WK b -
(A) S P (B) @i &

(C) 919F & (D) HAE. &

A circuit is disconnected by isolators, whe
(A) line is energized

(B) line is on full load

(C) circuit breaker is not open

(D) there is no current in the line .
TH qfiqy, e BT TSUEE ol WA T,

=

~

(A) ¥TE Sio B

{g} SIES] 321‘% s T W N
(C) uftuy R gem =1 8

(D) @ # W G TEn

(A) Water 1
(C) ol o (D)SFeGes
oy e e o e @ fa”ga B & g
fre & @ HEE TIEE BOWT 7

T
(D) BF, Gas

(A) TR (B) g .
(C) o (D) TEUH., T




57

Bundied conductiors are used for BEHV
transmission lines primarily for reducing the-
{A) Sur, ge impedance (B) Voltage drop
(C *~R loss (D) Corona loss
Tiwen! Y ""\fﬁan T IS H, & WY
%‘M il W*@%%C%WW%?
(A3 st wiEmer (B) g O
:::; “R =1 (D) wET T

rating station has a maximum demand
30 MW, a load factor of 60% and a plant
capacity factor of 50%. The reserve capacity
of plant is -
(AYS MW (B)4 MW
{”T‘ & MW (D) 10 MW
SEET W A 30 AW A @Y aftwsen Wi,
60% 1 WE BIRT &X 50% @1 wiw e
T B | U W i s e -
’A}SWF{’E (B) 4 ¥ @
(C).6 5 = (D) 10 % T

The daily energy produced in a thermal
power station is 720 MWH at a load factor
of §.6. What is the maximum demand of
the station ?

(A) 40 MW (B) 72 MW

(C) 30 MW (D) 50 MW

Tep A grEk ®9W ¥ Swifta 2R o, 0.6
& T O WX 720 W AT G B | VI W

P

Aig@
of 30

(A)y40 T @ (B) 72 A @
{C}%@ T GTe (D) 50 T 97

6 'ABCD constants of a 3-phase
%m igsion line are -
A =0.841° C=0.002£904°T
B=170£85°Q

The swdmg end Voltage is 400 k“v The
recewmg end voltage under no-load
wnﬁmon is -

’A} 32@ kY L 45° (B) 500kvV £ ~-1°
(CY400kV £20° (D) 418kV £ ~20°
A gare T & AL ELE. Ruds i
‘“«mw ¥ -
A=D=0821°
B= 17{}4 85° 02
Swer X o deear 400 . ¥ | 5w w1 g
s T §, T§ R R 9w Seedr @ -
(A) 320 %4 £45° (B) 500%&. £ —1°

(C) 400 &4 £20° (D) 418 %4 £ ~20°

C=0.002£904°0

[7gP3] +
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What is the potential difference ?

(A) It is the difference of Potential between
two peints in an electric circuit.

(B) Difference of Current between the two

points,

(C) Difference of Resistance between two
points.

(D) Difference of Capacitance between two
}30&1 :

Ryt ’Eﬂ“ﬂ TR ?

(A) TE T Tage wiay # < Rrgall & 9 fogw
forre @1 et B

(B)?{%@aﬁ%ﬁﬁm T T R T

(C) = Regall & wem Wity ¥

Oy %@aﬁ lmrw:{ TG ¥

Formula of Energy is -

(A)Power / Time  (B) Power x Time
(C) Time / Power (D) (Power)? / Time
el WG T
(A) i | g
(C) w7 | ol

B) efferd x @9y
(D) (sfer)? | @

The unit of electrical energy is -
(A) Watt — (sec)? (B} Joule / sec

(C) K.WH. (DyK.W. / sec
ferge ot @ g ¥ -
(Ao - (@ds)2  (B) §F / s

(D) &5y, | ¥Hs

One kilo-watt-hour is equal fo -
(A) 3.6 x 108 Joule (B) 36 x 10% Joule
(C) 6.6 x 108 Joule (D) 3.6 x 10% Joule
T re-ge-enET ET ¥ -

(A)3.6 x 1085w (B) 36 x 108 5@
(Cy6.6 x 108 5@ (D)3.6 x 108 &

Kirchoff's first law states that a

in an electric circuit -

R & oUW P eran, U% fga uiey &
S [ wf 9T -

(A) 2 E=0
€) > 7=0

(C) &.5%.1T.

a junction

@
&

[
w3
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S RC Y
Y .
g
5, S

d

D

e

o
4 o B
o
o U

;
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jav]

o

keg

@]

o)

<

%]

o

o)

o

o5

<o

)

N

R g

/M

5
l)a

&Y Feeql BT @ B

(A) 7 ol sy

LN

g:;

%8

ﬁj 3
?Saf =]
/q -

o~

e

(B) s Ffale ke
(C) v W@ & LA

(D) e Stfaie Tty

=

s

-

When a source is deliv wmnb maximum
power to the load, the efficiency v ifﬁ be -

e W, 9 @ SlieRaT 3T YEe T G R
T <EAl B —
(A) 50%
(C) 99%

(B) 100%
(D) 25%

The current flowing through 1£2 resistor
comected between B and E in the circuit
shown below is -
A B C
e AVAVAVAVAY '
12

2
N
WY
5
MW
9)

F E D
(A) 1 Ampere (B) 0.5 Ampere
(C) 10 Ampere (D) (.25 Ampere

T R e fee ooy ¥ Rg B @@ B % e
1O ooy § 959 Il OTg & A T -

A A ——F ©
0 L
1A C@ % 0 § 10
F £ D

(A) 1 Thuwe }
(C) 10 whume

.5 TRTIY
0.25 whaae

[79P3| +
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et

am 41 3o, M vy et ' IS
n the circuil shown below, what will the

o

nower consumed in 2 £2 resistor connected

across A-B 7
. = 20
A AN /\/W——~I
By - = 20 ]L 12y
: C
(A) 16 Watt (B) 0 Watt
(C) & Watt (D) 32 Watt
T e e e %uma%ﬁ e B % e I
g 2 £ uferty gro Reeer atemy @ o S v
= 282
A A VWAV
24
+ ]
8y — % 20 }, 2V
c
(A) 16 T (B) 9y @
C) 8T (D) 32 9

The direction of the electro-magnetically
induced e.m.f. is determined by

(A) Fleming's Right Hand Rule

(B) Fleming's Left Hand Rule

(C) Lenz's Law

(D) Right Hand Thumb Rule

e gem w9 ¥ W e, e few e
e femar s ¢ -

(A) vt @ ol w1y Frew 9

(B) v @ iy ey From @

(C) = Fow ¥

(D) i w1y @1 SFpT Few Q@

The coefficient of coupling of two coils is
pmpm*ionai to -
31 WHIEW & GO B PG SEuaE

(&) Liy (B) JLL,
© ynl, (D) YL,

The self-inductance
is pmpo tional to -

of a solenoid of N-turns

N -2TH $ UF e @-UEe Sraias
(A) N ®) N

©) 1/n? D) YN
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(C) = areedn, g 9T faEe
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The arc utilized in electric arc welding is a-
{A) High voltage, high current discharge
{B) Low voltage, low current discharge
(C) Low voltage, high current discharge
(D) High voltage, low current discharge

geifergen [ (eepa oimes e & fopg omrds a7 woey
fopor s ¥ 7

(A) v e, S 4T foes

(B) f= aiwean, B ouma fagem

(D) w=a oweal, e 9 s

To save energy during braking, which type
of braking is used ?

(A) Dynamic

(B) Plugging

(C) Regenerative

(D) Dynamic or Plugging

St @1 Soar G s ¥ ?

(A) i (B) =i

(C) gFarh (D) feres ereran R

The concept of voltage / frequency control
of inverters driving induction motors results
in- |

(A) Harmonic Elimination

(B) Reduced Magnetic loss

(C) Speed Reversal

(D) Constant torque operation

U7 AT GO & [WT §EET ¥ aiwedl [ g
T & € T aiom o B ¥ -

(A) il S Em

(B) B9 gy T

(C) i wwe

(D) @u= SaSTEE Tem

A diode when reversed biased acts as -
{(A) Open switch (B) Closed switch
(C) Zener diode (D) Capacitor

s we foufa efa R s €, @9 @w
1 & w9 o @R e © -

(A) gw e B) 5% fag

(C) ST sTEiE (D) genfar

[79P3] +

T
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The full-load copper-loss and iron-loss of a
transformer are 6400 Watt and 5000 Wait
respectively. The copper-loss and iron-loss
at half load will be respectively :

(A) 3200 W and 2500 W

(B) 3200 W and 5200 W

(C) 1600 W and 5000 W

(D) 1600 W and 1250 W

o SRR g W o T e
=1 a9 6400 @ o 5000 9 ¥ 1 ong Wi
o diST BN TE WE R $1 9 HE B
(A) 3200 =1E ©g 2500 I

(B) 3200 e wg 5200 =€

(C) 1600 =e wg 5000 are

(D) 1600 =re wg 1250 =<

The armature resistance of a 6-pole lap
wound d.c. machine is 0.05€. If the
armature is rewound as a wave-winding,
what is the armature resistance 7

(A) 010G (B) 0.030Q

(C) 0.45Q (D) 0.15Q

Th B U o9 §Eel, SLEL Wl @l et
i 0.05 I ¥ | ST T @l a0 GHewt
¥ IR ST W A e} g e aR
g 7

(A) 0.10 a1/ (B) 0.030 37

(C) 0.45 & (D) 0.15 &=

In large alternators, the field winding is
placed on the -

(A) Stator

(B) Rotor

(C) Both Stator and Rotor

(D) Neither Stator nor Rotor

T FRTRT § BiFe AEFeT @ I § -
(A) ®eT T

(B) T WX

(C) ®ex wd X TR W

(D) 1 ®ex T T A & WX W

Maximum speed of a synchronous machine
for 50 Hz is -

(A) 1500 rp.m. (B) 3000 rp.m.

(C) 4500 r.p.m. (D) 6000 r.p.m.

50 Hz % T geasiive w9iF @ sfmad
i

(B) 3000 8T,

(A) 1500 &mT.dh.ue.
(D) 6000 ame. 8,

(C) 4500 armedrus.

- 4 P PP T3 " M M
81 In a synchronous machine, when excitation

82

83

84

[76P3] +

is increased, then -

(A) Field current increases.

(B) Field current decreases.

(C) Armature current increases.

(D) Both Field and Armature current
increases.

IS ,

(A) BRE 910 % @i ¥

(B) wiFs 9T &9 & e ¥ |

(C) =R 4T §% Wiy ¥ )

(D) wies 9T TF R o €% Ry ¥

An over-excited synchronous motor, has the
power factor as -

(A) Leading

(B) Lagging

(C) Stable

(D) Depends on other reasons

eIl Hex & o Soe § W @ aRs
oTies {5 WeBTT BT R P

(A) surme) (B) uygmryy

(C) Rex (D) =g ol oX fsft

The speed of the synchronous machine
depends on -

{(A) Supply Frequency onl

(B) Number of Stator Poles only

(C) Both Supply Frequency and Number of
Poles

(D) Rotor Resistance

el =T 6 iy frelk s ¥ -

(A) o TS SR ux

(B) shae weX gal o g o

(©) s amgfy ot g & e a9 e
(D) e wfrer o

Which of the following is a source of non-
conventional energy ?

(A) Natural Gas (B) Coal

(C) Gil (D) Wind

Frer & & @i w1 T a7
(A) wfaes g (B) wremm

(C) w@ (D) =g

ok

o8
&

86
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Doping in a semiconductor increases which
of the following quantity ?

{A) Resistance

(B) Resistance or Inductance

(C) Inductance

(D) Conductance
L '3 - e .
sreETEe W S @ Fr ¥ & e wen /e
@ WET Y 7
(A ufady
(Y uirrYer aversy Shes
L) WK SR W{EnT
(C) Yt
(D) T

The majority charge carriers in an NPN
transistors are -
(A) Holes
(B) Trivalent atoms
C\ Dant } + y
(C) Pentavalent atoms
(D) Electrons
. .}3: o .
T 4. i ¥ Sgders s aes O -

(A) Trew (B) Pt i
(C) v o] (D) e

When a P-N junction diode is reversed
biased the thickness of depletion layer -
(A) Increases

(B) Decreases

(C) Can not determined

(D) Remains same

WY Uw GO S s o ol afre
e sar ¥, ww Rehvm wa @ A -

() v ¢ | (B) wredh ¥ |
(O war & 9ar | (D) 999 @S ¥
The value of current gain (;3) in the circuit

shown below is -
= e T wfvee 7 g e (B) e e -
+ 10V

5K

~10V
(B) 120
(D) 164
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The unit of magnetic flux densit
(A) Weber / meter (B }
(C) Tesla )

*&amgi‘tf TG T o
(A)FET | 9RY § !
(C) T (D) = | Hrex

Th

The permeance in
corresponds o -
{A) Resistance in electric circuit
(B) e.m.f. in electric circuit

(C) Conductivity in eie@ tric circuit
{ @\ Conductance sn electric wirmi‘f
T gm’cﬁm Ty ¥ T T W A E
(A) forge wiwy o R

(B) frga ‘qﬁw # ea awe W
(C}%@a u\{w ERGIRER

(D) Rrga whuy ¥ e

The best suited magne’iéﬂ material for the
construction of transformer core is -

(A) Silicon Steel (B) Hard Steel

(C) Mild Steel (D) Iron
W%%%W%WW@ ST IR
DY -

(&) Tl <5 (B) 3w w&

(C) zwamt ®r (D) wrar

An inductive coil of 10 H develops a counter
voltage of 50 Volts. What should be the rate
of change of current in the coil ?

(A) 5 Ampere / second

(B) 1 Ampere / second

(C} 500 Ampere / second

(D) 0.2 Ampere / second

&g ¥ @ e IR gEet 50 e @
dieedl Rieiad S & | Hee ¥ O $ IeEr
& g R B Ry 7

(A)5 chome/uds (B) | chuag/ wds
(C) 500 whaat [ ¥de (D) 0.2 whuay | e

If 2 coil has a resistance of 10£2 and an
inductance of 1 H, what will be the value of
current 0.1 second after switching on to a
50 Volts d.c. supply ?

(A) 6.62 Ampere (B) 3.16 Ampere

(C) 4.4 Ampere (D) 20 Ampere

ofr fEd FEeh @ uRity 10 o T IReE 1
T8 % A gee @ 50 I SLEL wwE 9
Sies % 0.1 Y% T3 e § yaned e
I ST T S T B P

(A) 6.62 TRYTX (B) 3.16 Thuex

(C) 4.4 tfigmx (D) 20 tiuax

94

95

96
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The power factor at reson
R”L"h mlﬁ‘wi iS -

(A} Unity (B) Zero
- -
()05 (D 0.7

T HEdl &JU afmy & SFFET UT e
3(1; i e -

(A) 3o (B) o=
()05 (D) 0.7

In pure inductive A.C. cir
( A} ’\foi‘zaga iea@; the
1

(o *Jokagﬁ and current are
({ ﬁ} Vohage leads the curren
TF € R T aiuy 7 -

(A) T, 9T ¥ 90° oI T % a
(B) 4T, Iwear ¥ 90¢ o WwE ¥
(C) diwear TE o H A B ¥
(D) dean, gra ¥ 180° & A ¥

et e
e f
e

Which of the following relation is not true
for power factor ?

True Power KW
{ ).__,_____.___,_._., B)
: Apparent Power / KVA
/ Resistance o _/}mpet@
© Impedance (D) Voltage

B ¥ QA T sﬁﬂgnméﬁ%'qaw
%7

k‘?‘iﬁéwer factor can be increased -
(A) Using Inductor

(B) Using Shaded Pole Motor
(C) Using Repuision Motor

(D) Using Synchronous Motor
are et Y SeET S el § -
(A) T BT

(B) 9= 9 HeX B

(C) fruwem H{eT TU

(D) geusiv® Hiel BT

D
[#ea]

99

101 Filas

ing to LE. Rules,

is sufficient.

system has to be

(D} Elther single or double eart nmg

" O fa £ . -
IR e e Sre@Te vraT Suesell s ST
(A) wow ot gofa ¥

(B) ety b s Sl

(C) af¥fr &) srasowmar 78 Ty |

(D) =1 & g a1 Rt Sl sl e T

T 13 o ey v
The appliances are alway

switches connected in -

{A) Phase wire

(B) Neutral wire

{C) Earth wire

(gx Neutral or Earth wire
UG @ b o & e Rew ey s
\msj?f S

(A)%s g ¥

(B) =qgw @ ¥

(C) g9 arx &

(D) =gg& dlgen 9-dude ax ¥

controlled by the

45}
b

100 The full form of CFL i -

(A) Coated Filament Lamp

(B Compact Filament Lamp
(C) Coated Fluorescent Lamp

! (D) Compact Fluorescent Lamp

CFL &1 qu =19 ¥ —

(&) BIE Tramee o

(B) wimige feeme &

(C) mres we= §w

(D) Bitee wWRa= &

wnt used in a Halozen lamp is made

up of -

(A) Tungsten (B) Nichrome

{C) Magnin {3} Ureka

TS T e Rewmee Reget oo 2 § 7

=

(A) T (B) wEmm
(C) ¥ (D) gLa
79P3| -+ |

3

162 A moving

103 Creeping is the p

104 The wattmeter measuy

measure -

{A) Direet curres
(B) Alterna
’F> Both

(D) Only high

TR ‘55\: R
AN R Ty
(A TEE fose urg
(B) o W rere ?_

atﬁﬁ“ [ QMM

WEL Y

\L}; W’QQ‘)

SRENOMENOn

;i's -

(A) Ammeter

s

(B} Voltmeter

(C) Wattmeter (D) Energy meter
faredor o8 wewr ¥ WY wRw B ¥ -

(A) i (B) e
& ZT?#?&‘{ Bl (I3 eyl ey o

S -
(A) Real Power (B) Apparent Pow
(C) Reactive Power (D) Total ?ow

T e e § -
(A) aratas wiw
©) EiRERERE

Three D.C. volimeters ar
series across a 120 V D
voltmeters are specified as follows :
Woltmeter A : 100 V, 5 mA

VYoltmeter B 1 100 V, 250 Ohm/Volt
Voltmeter C : 10 mA, 15,0008

The voltages read by meters A, B, C are
respectively

(A) 40, 50 and 30 Volts

(B) 40, 40 and 40 Volts

(C) 30, 60 and 30 Volts

(D) 60, 30 and 30 Volts

(B) el e
(D) g ey

’1

A SLEL AT @ U gaer ¥ 120 9
S SR @ weT ser § 1 avedied oy R

TG ¥ SwiRag fear T ¥ -

ey & ¢ 100 O, 5 Wi uhoa
FeedeT € ;100 @, 250 ofm/de
TAFAET ¥ 10 T whaay, 15,000 o
AT &, ¥ T EN B s AN -
(A) 40, 50 ©d 30 T

(B) 40, 40 w& 40 o

(Cy 30, 60 wd 30 T

(D) 60, 30 w& 30 o




106 In an oscilloscope, the obser
figure is shown below :

rved Lissajous |

What is the ratio of vertical inpm signal
frequency to that of horizontal input
frequency 7

T e O U ] et (ReR) R
Ry Ty ¥

=\

e gege R g o Sealer gge Reaw
ATGRT & AR FT Y 7

(A)3/2 (B) 2/3
(C) 5/3 (D) 3/5 .
107 What is the value of series resistance

required to extend the 0-100 Volts range of
a 20,000 /7 meter to 0-1000 volts ?
0-100 @we IS wd 20,000 sim/dree e
eI @l 0-1000 dw =y ¥y e
WO I STV Uy BT A ey ey ?
(A) 10 MG B) 18 MO
(C) 15MQ D) 260 MQ

108 Multimeter cannot measure -

(A) Current (B) Inductance
(C) Voltage (D) Resistance

AT & AT AT —
(A) sma (B) ere
(C) Tervey (D) uRrarer

109 Which of the following motors has high
starting torque ?
(A) D. C. Shunt Motor
(B) D. C. Series Motor
(C) Both Series and Shunt Motors
(D) Compound Motor
e & we @ R o A &1 geen
Terameel orftres Erar & 7
(A)E. @ ste Ay
(B) & . gofy ey
(C) 91z wd 9oy At B
(D) ¥y X

[79P3] + 14

110 In a three unit insulator string, voltage across
the Jowest unit is ¢ Stri
efficiency is 84.28%. The total voltage
across the string will be equal to -
(A)R.825 kV (B) 88.25 kv
(C) 44.25 kV (D) 442.5 &V
TE A g e Joer ¥, gad A9 am
give ot dreea 17.5 @4 § ol wen s
84.28 wliowt ¥ 1 RS | SfEw W Hw dwean
Y —

(A) 8.825 .4
(C) 44.25 %41

(B) 88.25 ..
(D) 442.5 %4,

111 Fuse is always connected -

(A) in series with the circuit to be
/ in phase

(B) in neutral wire

(C) in earth wire

(D) any where

TS AT WS T T -

(A) 5 afvae o1 deim s § T9% oy S
E R

(B) g X o

(C) g-—dud= ax ¥

(D) wEl &

112 The basic purpose of earthing is -
(A) to avoid faults
(B) to allow current to flow in circuit
(C) to protect the oppratsr from electric

protected

shock
(D) to stop current to flow in circuit
TS B qE IL9T & -
(A ¥ s=T
(B) uftgy & o17 &) §8%
(C) st & fywel & 7% § sum & fig

(D) uigy & o1 & g2y ¥ Ve

113 Where appropriate use of cleat wiring ?
(A) Modern House _
(B) School / Hospitals
(C) Temporary functions
(D) Factory / Industry
FIE FETeT o1 Ifa SO BEf ¥ 7
(A) smgfres wT F (B) w5t | wihwed &
(C) orrg wiwen & (D) BeelY [ SEe H

[P | FEOVI W ] - ot fF \
114 Relationship between phase current (/)

a

and line current (/7
connection is ;

& B Sw dumE o B und ( L) it
TR G ([ ) & A W -
(A) 1, =31, (B) Iy =31,
'?!
/ P (TN 7, = .2&
© {ph =1 ) *}ph T

115 What is the frequency of the waveform
shown below 7

v/

0.02 Second

|

/ Time

et R o w907 SoRh ¥, 3w oAl @)
amgra wm Brl 7

v
0.02 9%
] Time
(A) 50 Hz (B) 100 Hz
(C) 25 Hz (D) 75 Hz

116 When three 10 ohm resistors are connected
in star across a 400 Volts A.C. 3-phase
supply, each resistor must have a power

rating -
(A) 5290 W (B) 5333 W
(C) 4600 W (D) 16000 W

qm, 10 ofm uiay o T wr § duifse B
T ¥ @t 400 diwear TEL O B el & wiew
T R gieRiy @ st X B srrasge ¥ -
(A) 5290 T (B) 5333 =e
(C) 4600 are (D) 16000 Tre

[79P3] +

117 In a two wathme

-] *W
3
ol I
PRI
F oy %’3
ot ED

"
N N
o

B
5’1‘: <

Y

D) When power i
3y Tredey [l g o BN wET TR 99T O
aredET & O I B -
(A) ¥ g TR 7 T
(j; W iR e YRRy El o

(C) 9 to B9 ¥ W% S B

A

(D}G‘i’@? sifery Tqorfes 0.5 1 4

e Py
=
e

rj/

118 To extend the range of amme
{A) a high resistance is connected in series
with it.
(B) a low resistance is connected in series
with it
(C) a high resistance is connected in parallel
with it
(D) a low resistance is connected in parallel
with it
TH THRT B G ¥ Tmr e % e -
(A) T T 19 @ GO0Y THET & R Y@
¥ Sirer w@r & |
(B) U% ¥ A9 &1 Wioay THeY & 1y S
EEEISTEC G
(C) Us I 9 &1 TR THIRT & 61 TEFEIET
o e S E
D) T oE 7 %7 TRRIY THRT % WY e
o SET S Y

119In permanent magnet moving c¢oil
instruments damping torque is provided by-
(A) Eddy Currents  (B) Air Friction
(C) Fluid Friction (D) Thermal Effect
T e TEEE FeN! Tl o STaHET SEeTEe
[EEIECIGRE
(A) 9gT arq g iB; ‘xw Tra
(O)aw o gra (D) adig 9o &3

126 What will be the reading of Megger, if the
measuring terminals are open circuited 7
(A) Zero (B) Infinity
{(C) 50002 (D) 10,000 &

TR AR AT AT SRR g €, @9 W BT
WS A T e s 7
(&) = (B) oq

(C) 500Q (D) 10,000 &2






